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Source of the Sample Portfolio Valuation: http://www.ovmetrics.com/sample.htm
Up-to-Date Pricing for Sample Portfolio Valuation: http://www.ovmetrics.com/demo.htm
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OV Metrics’ Web-based portfolio analytic tool is powered by EDGAR Online’s XBRL feed.  Every night, via FTP, OV Metrics’ databases are updated, enabling users to perform extensive calculations and create an "Ownership View”.  The programming code is 700 KB, using Linux as the Operating System for our server, Apache in our web server program, MySQL for our database, and PHP as our backend/server language.  See: http://www.ovmetrics.com.

Code for Definition of “Total Shares” (in PHP)

                                                if(trim($row["Diluted Weighted Average Shares"]) != "") {

                                                                $row["diluted_weighted_average_shares"] = $row["Diluted Weighted Average Shares"];

                                                }

                                                else {

                                                                $row["diluted_weighted_average_shares"] = $row["Basic Weighted Average Shares"];

                                                } // end if

 

                                                if($row["Diluted Weighted Average Shares"] != 0) {

                                                                $row["total_shares"] = $row["Diluted Weighted Average Shares"] / 1000000;

                                                }

                                                else if($row["Diluted EPS, Net Income"] != 0) {

                                                                $row["total_shares"] = $row["Net Income Applicable to Common"] / $row["Diluted EPS, Net Income"] / 1000000;

                                                }

                                                else if($row["Basic EPS, Net Income"] != 0) {

                                                                $row["total_shares"] = $row["Net Income Applicable to Common"] / $row["Basic EPS, Net Income"] / 1000000;

                                                }

                                                else {

                                                                $row["total_shares"] = "";

                                                } // end if
Plain English

First, checking for zeros, if Diluted Weighted Average Shares is in the EOL feed, then we use it.  If it is zero, then we will use Basic Weighted Average Shares as Diluted Weighted Average Shares.  
 

If Diluted Weighted Average Shares is not equal to zero, then we can use it to calculate total shares.  
 

If it is equal to zero and if Diluted EPS, Net Income is not equal to zero, then we can use Diluted EPS, Net Income (along with Net Income Applicable to Common) to calculate total shares.  
 

If both Diluted Weighted Average Shares and Diluted EPS, Net Income are equal to zero, then see if Basic EPS, Net Income is equal to zero.  If it is not equal to zero, then use it to calculate total shares, if it is then assign total shares as empty.  If it is assigned as empty, this will trigger the use of an archived version when loading the portfolio.
